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ECE 300
Spring Semester, 2007
HW Set #5
Due: February 22, 2007: Version 2 Name L‘V/// ]
wlg Print (last, first)

Use engineering paper. Work only on one side of the paper. Use this sheet as your cover sheet,
placed on top of your work and stapled in the top left-hand corner. Number the problems at the top
of the page, in the center of the sheet. Do neat work. Underline your answers. Show how you
got your equations. Be sure to show how yvou got your answers. Each problem counts 10 points.

5.7 Ans: Vp=-10mV, V4=100nV

b

5.10 Ans =2

e

5.14 Ans: Vo=-25V

515 Ans: (a) Ko_:_ R1+R3+R1R3 , (b) @:—921@
Is RI Is
~R
523 Ans: L
v, R

530 Ans: ix,=10pA, P=2puW
5.32 Ans: ,=600nA, Vo=12mV, P=24nW
5.58 Ans: V,=-2.738V 1i,=0.6848 mA

5.58XX Simulate 5.58 with pspice and verify i,. Use the pA741 op amp
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